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SARDAR PATEL UNIVERSITY
MA (FOURTH SEMESTER) EXAMINATION
Monday, 23" April : 2012
3pmto 6 pm
PAO4ESOCO02 - SOCIOLOGY: INDUSTRY AND SOCIETY IN INDIA

Total Marks: 70
Note: Attempt all questions.

Q.1 Fillin the blanks. [10]

1. The roots of Labour Union are to be found in system.
(gild, family, factory)

2. The Labour Union is an institution more bent upon issues.
(economical, political, social)

3. Industrial relations are ways.
(one, two, three)

4. Industrial relations is a dynamic and Complex Process.
(chemical, production, social)

5. Industrial Society is Oriented Society.
(capital, labour, machine)

6. gave the idea of the evolution of Industrial Society.
(Moore, R.N. Saxena, Millar and foam)

7. The problem becomes intense in the industrial cities.
(strike, slums, fuel)

8. The problem becomes severe due to industrialization.
(population, traffic, pollution)

9. can be avoided with participatory management.
(conflict, competition, co-operation)

10. ltisa to employ child labourers.

(legal, crime, co-operation)

Q.2 Explain the definition, types, characteristics and nature of Industrial relations.  [15]
OR
Q.2 What is Industrial Conflict ? Explain its causes and remedies to solve it.

Q.3 Define Labour Union. Explain in detail the Labour Union. [15]
OR

Q.3 Discuss various points related to social and environmental issues of industry.

Q.4 Define Participatory management. Explain in detail the Participatory [15]
management.
OR
Q.4 Define labourer. Explain the labourer migration in detail.

Q.5 Explain various types and levels of industrial management. [15]
OR
Q.5 Write short note.
1. Women labourers.
2. Industrial cities.
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